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E2429100

E2429120

E2429160

E2429200

E2429250

EQ429100

EQ429120

EQ429160

EQ429200

EQ429250

R5.0

R6.0

R8.0

R10.0

R12.5

10.0

12.0

16.0

20.0

25.0

10

12

16

20

25

45

53

63

75

90

95

110

123

141

166

4

4

4

4

6

,BW@LX20K
RBAA280XD

;&O TST6P

?@AA
:@BCDEDF

/4

*GBHI
:@BCDEDF

WR

4DHJEG
0K2/LE

7MDFBAA
4DHJEG

80>0K
3ALED

Unit : mm

+:=280>

8<':A-9> -*A"<

%>*&,5*+,-+*

.**/0#12)V"23456+2478924+896.2RO44287*+

.**/0#12)V"2*/.8+-:+824O892*6-,8,O:-5*

FLAT SHANK 
SEITLICHE MITNAHMEFLÄCHEN

%&*&,5*+,-+*
FLAT SHANK 
SEITLICHE MITNAHMEFLÄCHEN
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8

!
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"%./$01"&"(-#0&"+'2$&'+*+$&"&
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!"#$
%#&$'())*

+,-.+//
%#&$'())*

+,0*$.+//
%#&$'())*

-1232
%#&$'())*

45$'())
%#&$'())*

-,*6%%&
78950%7$
%#&$'())*

-,68:%7
%#&$'())*

;%<,68:%7
%#&$'())*

<#$'())
%#&$'())*

=3$'+//$
%#&$'())*

>)9,68:%7
%#&$'())*

!7-$*
%#&$'())*

&,68:%7
57>60(<%
%#&$'())*

&,68:%7
!?76
%#&$'())*

789<%7*

@,A$!>7"(&%
%#&$'())*

5%#%7>)
!>7"(&%
%#&$'())*

<>#@,68:%7
%#&$'())*

5%#%7>)
0**
%#&$'())*

'())(#5
!9<<%7*

<%!0#(!>)
&><>

#3!4+'"

0--

!"FJ BCDEFGHIA,JA,1AK,2L2LM$$NOPGHIA,JA,1AK,4J3JM$$QQQRSTURVWM$$%,.O+/GSTUXSTURVW

$%%&'()*8-,.2*+,-./*D9,,*31%/
$%%&'()*8-,.2*%&$3/25/3*%.2636952-%

"5;:89("5;5=9("56:5 %/62/%

0.7D

0.3D

R3.0 6.0

R4.0 8.0

R5.0 10.0

R6.0 12.0

R8.0 16.0

R10.0 20.0

R12.5 25.0

2200

1600

1300

1000

800

600

500

200

240

270

260

230

210

200

40

40

40

40

40

40

40

0.030

0.050

0.069

0.087

0.096

0.117

0.133

5298/./6* 6?8 +//5 @A BC

1700

1200

1000

800

600

500

400

135

160

180

160

150

130

105

30

30

30

30

30

30

30

0.026

0.044

0.060

0.067

0.083

0.087

0.088

6?8 +//5 @A BC

1000

700

560

450

350

300

220

70

75

90

80

80

75

60

20

20

20

15

20

20

15

0.023

0.036

0.054

0.059

0.076

0.083

0.091

6?8 +//5 @A BC

89./629,

$9653/%%

%.6/34.$ :*;<<3=>>"

&96D13*%.//,%
9,,1E*%.//,%
.11,*%.//,%

:*$6A"<

;<<*:*(<<3=>>"

&96D13*%.//,%
9,,1E*%.//,%
.11,*%.//,%

$6A"<*:*$6A#<

(<<*:*!<<<3=>>"

&96D13*%.//,%
9,,1E*%.//,%
.11,*%.//,%

The FEED, in long & extra long types, should be reduced by around 50%

R3.0 6.0

R4.0 8.0

R5.0 10.0

R6.0 12.0

R8.0 16.0

R10.0 20.0

R12.5 25.0

700

500

400

320

250

200

160

40

45

50

50

50

50

45

15

15

15

15

15

15

15

0.019

0.030

0.042

0.052

0.067

0.083

0.094

5298/./6* 6?8 +//5 @A BC

5600

4000

3200

2500

2000

1600

1300

420

530

540

510

450

420

380

105

100

100

95

100

100

100

0.025

0.044

0.056

0.068

0.075

0.088

0.097

6?8 +//5 @A BC

89./629,

$9653/%%

%.6/34.$

$6A#<*:*$6AF<

!<<<*:*!#<<3=>>"

&96D13*%.//,%
9,,1E*%.//,%
.11,*%.//,%

9,-823-8
9,-823-8*9,,1E%

RPM = rev./min.
FEED = mm/min.
Vc = m/min.
fz = mm/t
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"5;:89("5;5=9("56:5 %/62/%

0.7D

0.3D

R3.0 6.0

R4.0 8.0

R5.0 10.0

R6.0 12.0

R8.0 16.0

R10.0 20.0

R12.5 25.0

3100

2250

1800

1400

1100

850

700

280

335

380

365

320

295

280

58

57

57

53

55

53

55

0.030

0.050

0.070

0.087

0.097

0.116

0.133

5298/./6* 6?8 +//5 @A BC

2400

1700

1400

1100

850

700

550

190

225

250

225

210

180

145

45

43

44

41

43

44

43

0.026

0.044

0.060

0.068

0.082

0.086

0.088

6?8 +//5 @A BC

1400

1000

800

650

500

400

300

100

105

125

110

110

105

85

26

25

25

25

25

25

24

0.024

0.035

0.052

0.056

0.073

0.088

0.094

6?8 +//5 @A BC

89./629,

$9653/%%

%.6/34.$ :*;<<3=>>"

&96D13*%.//,%
9,,1E*%.//,%
.11,*%.//,%

:*$6A"<

;<<*:*(<<3=>>"

&96D13*%.//,%
9,,1E*%.//,%
.11,*%.//,%

$6A"<*:*$6A#<

(<<*:*!<<<3=>>"

&96D13*%.//,%
9,,1E*%.//,%
.11,*%.//,%

The FEED, in long & extra long types, should be reduced by around 50%

R3.0 6.0

R4.0 8.0

R5.0 10.0

R6.0 12.0

R8.0 16.0

R10.0 20.0

R12.5 25.0

1000

700

550

450

350

300

200

55

65

70

70

70

70

65

19

18

17

17

18

19

16

0.018

0.031

0.042

0.052

0.067

0.078

0.108

5298/./6* 6?8 +//5 @A BC

7850

5600

4500

3500

2800

2250

1800

590

740

755

715

630

590

530

148

141

141

132

141

141

141

0.025

0.044

0.056

0.068

0.075

0.087

0.098

6?8 +//5 @A BC

89./629,

$9653/%%

%.6/34.$

$6A#<*:*$6AF<

!<<<*:*!#<<3=>>"

&96D13*%.//,%
9,,1E*%.//,%
.11,*%.//,%

9,-823-8
9,-823-8*9,,1E%

RPM = rev./min.
FEED = mm/min.
Vc = m/min.
fz = mm/t


